v\ Tick (¢¥) the correct answer.

Which of the following is a physical change?
| b, rusting of iron
I changing of wheat to bread

.

.-.\/ﬂ-hmg of butter

¢ burning ot paper
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2. Milk turning sour is a
a. physical change. b. reversible Changc,
¢. ch€&mical change.
4 0) g
3. f)(;/ 7] (] and salt are soluble in water.
\— / B A
1. Chalk

4. Kerosene

4 none of these

a. Sugar
c. Sand

4. In ice, the water molecules are/can

a. s'ffék together. b. very close to each other,

c. move around freely. d. move very fast.

5. The gas that bubbles out of an aerated drink 1is

a. nitrogen. b. oxygen.

¢. hydrogen. d. carbon dioxide.
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